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And Uloh derives it from Rovoh - K297 795 RPDI KD

Overview

X7 derives that there is 0391 N2 by a 01X from where X271 derives it (from 25w
nny), therefore the nrn is available for the w"m of nnn nnn that 717 11°RY 22wn. Our
n1doIN attempts to resolve a contradiction between our X3 and another X723

- NDIYI 920 N29T YN
It seems that 839 (who derives 091 N2 by 01Xn from 7ny 2121w [but not from

nnn] thus leaving nrn available for the w"13) agrees with 897 that 71 X oown —
= ANTIY 19D *¥29N0T DIV IND IN NDIWI YWY NN 1999 )aNY® %391

For even "' himself (who argues with 7w and maintains o5wn 1°X1 7717) would
have expounded nnn like X7 (to teach us [via the w"rx] that 7717 XY DYwn), if
not for the fact that he requires NN as 2R expounded it that there is 5™2 by a DIx».

n1voIN asks:
= (0w N,NY KY Na2) DTN NN 99IWN PI92T DNIAN )2 PYNIY 19299 AYP)

And the X''2w= has a difficulty with this, for in 2°9212;7 NR "2%7 P=5 -
- 205wm 'Y Na YN D99 DDIN 533 1IN 299 YADT NN YPAYN
It clearly seems that X237 agrees with 3''9; for regarding the Xn»92 which states,
‘one who muzzles a cow and threshes with it, he is 25w P®°. The x»3 there

asked but we have a rule that 2%wm 7717 X -

- 29581 %399 »ax 1Y YpINT

So 2R established that Xn»72 according to »''S who maintains 22wm a1 -
- SN Yy X2 1PN NN NION “)INNY 13295 B9IYY NN XA

! He receives nmipon for transgressing the W of W72 M 200N &Y (in 7,72 [X¥N] 2°7127).

% The oo did not own the 719 (which he borrowed or rented to thresh his grain). By muzzling the cow, he deprived
her of the food which she was entitled to. He must pay the owner of the cow for the food which he deprived her from.

? See previously 2,25.

4 710X is the wage a harlot receives for her services. If the 7InX was a cow one may not bring it as a j727p. The 770
states TPYR "7 N2 131 737 10K X°2AN XY (in ©°,30 [R¥n] 0°127).

> 730X is MoK for a 127p if it was given for services rendered (meaning that the 717 has a valid claim to her 710X; they
both agreed to it). In a case where the 7117 was his mother, the son is 7n°n 2711 for this 7%"2, and therefore is not
obligated to pay her the janR, for it is °1n 72772 72 op. Nevertheless, the designated animal is M0X for a 127p, even
though the 717 (his mother) would not be able to collect it from him through 7"°2, however we consider that he really
owes it to her and it is considered 71nX. The idea here is that even though legally we cannot force him to pay, but
morally he owes her the j1nX. Similarly, here (by the 779 *5 00) even though that legally the 71957 2¥2 cannot force
the 0o to pay since he is receiving mp%n (and o2wm 717 1°X), nevertheless 0w *7 NX¥? he should pay the 7197 5va. It
is evident from this X7n3 that if there is both a NPY 1M 210 the law is 22Wn WRY 7712 (except 2w >71° NXYY). This
(seemingly) contradicts what we learn here that X371 maintain 7?12 1R 27wn. See >"wA there 831 7"7 X,RX.
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However, X297 answered, really the Xn>72 can follow the view of the 139 that X
oowm 7p17; for the 7790 prohibited bringing JanX as a 1277, even in a case where

he came upon his mother -
= DOWN NI NPT PTAT ¥NIYN DNIY 27 NRYY ODYUNM VIO

The explanation of s'®27 answer is that the 20w pays (only) to fulfill his

obligation to 2'»w, indicating that legally he is a%w» 1398 7219, which contradicts
our &7 here that according to X237, he is 7?17 2R 2%wn.

mooIn offers a resolution to this question:
= YPY NDY OOYUN RINNT RNMYY 7YY SN nom »ana NPT NIpONYY 9595 Y91 INNIYY

And according to what I explained previously, that in conclusion it is only in

these three cases that X?'» maintains that he pays money and is not flogged -
- 585w 1R NPIYT 13NY 395 93D NNPYYAT 9OV NN

It comes out well, for everywhere else X71v agrees with >''2 that abw» 181 P

£199% *2rya9N 199 7910 1309 234 wraT1o
As %'"1 expounded the 0°?09; that immediately after 1nyw= >72 (which teaches us
NPYWI "2 DIWN 1220 DR ORI 12200 DR DR VY o1wn) the 7770 writes 112 2Y929N.

Summary
If we assume that s'R?W ruling is limited to the three cases; the contradiction

between the two n1nx will be resolved.

Thinking it over

nooIN writes that X1pon? the rule is 25wn 1R 7717 as "1 derived it from the n1>°no
of 112° oy x."" Intailly when &2 ruled that 77> 1K) 9wy, the Xm3 asked % X
(on ¥,27); indicating that the 7vWwd X120 is that a%>wn XY 772, so why was it
necessary for '01n to conclude that the rule is 0%wn 1°K1 71217 because of the w7 of
"9, when seemingly even without the 7w97, the 7VWD X120 is that XY P17
nown?! '

% X% 71"7n 2,2% TIE footnote # 2.

7 They are 22171 ,01%» and 1"y,

¥ Therefore, in the case of oo, all agree that 2%wn X1 7p1.

? See “Thinking it over’.

' This means that in a case of N1YwA 'a the rule is 11 2°v27%; he receives MP9n, but does not have to pay.
' See footnote # 9.

12 See xin 71"7 2,20 07w MdON.
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